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#1 Points possible: 10. Total attem

pts: 1

C
om

bine and sim
plify:
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#2 Points possible: 10. Total attem
pts: 1

Solve for x

x
+

5

x
−

37
=

2x

x
=

  
-5.25
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#3 Points possible: 10. Total attem
pts: 1

Solve for x

x
−

1

x
+

12
=

−
4x

x
=

  
-2

#4 Points possible: 10. Total attem
pts: 1

The sum
 of the reciprocal of a positive num

ber and the reciprocal of 3 m
ore than the num

ber is 
710

. Find the num
ber.

W
rite an equation w

ith the follow
ing characteristics:

1. It uses x to represent the num
ber.

2. It uses the inform
ation as it is given above.

3. It can be solved to answ
er the question.

Equation: 
  

The num
ber is 

1x
+

1

x
+

3
=

7/10

2
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#5 Points possible: 10. Total attem
pts: 1

The D
oppler effect causes a sound m

oving tow
ards you to sound higher pitched and a sound

m
oving aw

ay from
 you to sound low

er pitched, like observed in listening to the car horn in the
video.

The equation for this is f
=(

c

c
+
v )

f0 , w
here

f is the observed frequency (pitch) of the sound, in H
ertz

c is the speed of sound, about 761 m
iles per hour,

v is the speed of the sound source, in this case the car, in m
iles per hour

f0  is the frequency of the sound w
hen stationary

U
sing a spectrum

 analyzer, w
e could determ

ine the observed frequency w
hen the car w

as driving
tow

ards us w
as 270 H

z and the frequency w
hile driving aw

ay w
as 240 H

z, suggesting a stationary
frequency of 255 H

z.

U
se this inform

ation and the equation to estim
ate the speed of the car in m

iles/hour, to 1 decim
al

place.

 m
i/hr

47.56
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#6 Points possible: 10. Total attem
pts: 1

A
 chem

ist has in a beaker 90 m
L of solution consisting of 30%

 acid.

a. W
rite an equation for the concentration of acid in the solution after adding x m

L of pure w
ater.

C
oncentration = 

  

b. U
se that equation to determ

ine how
 m

any m
L of w

ater should be added to obtain a 9%
 solution.

R
ound your answ

er to 1 decim
al place.

   m
L

27

90
+
x

210

#7 Points possible: 10. Total attem
pts: 1

A
 plane can fly 960 m

iles in the sam
e tim

e as it takes a car to go 180 m
iles. If the car travels 130

m
ph slow

er than the plane, find the speed of the plane.

   m
ph

160

#8 Points possible: 10. Total attem
pts: 1

A
 w

om
an can bicycle 104 m

iles in the sam
e tim

e as it takes her to w
alk 24 m

iles. She can ride 10
m

ph faster than she can w
alk. H

ow
 fast can she w

alk?

U
sing r as your variable to represent the rate at w

hich she w
alks, w

rite an equation using the
inform

ation as it is given above that can be used to solve this problem
.

Equation: 
  

She w
alks 

 m
ph

24r
=

104

r
+

10
3
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#9 Points possible: 10. Total attem
pts: 1

A
 plane can fly 640 m

iles in the sam
e tim

e as it takes a car to go 200 m
iles. If the car travels 110

m
ph slow

er than the plane, find the speed of the plane.

U
sing r as your variable to represent the speed of the plane in m

iles per hour, w
rite an equation

using the inform
ation above that can be solved to find the answ

er to this problem
.

Equation: 
  

The plane flies 
 m

ph
640r

=
200

r
−

110
160

#10 Points possible: 10. Total attem
pts: 1

A
ntonio can paddle his kayak 7 m

iles per hour in still w
ater. It takes him

 as long to paddle 16
m

iles upstream
 as it takes him

 to travel 40 m
iles dow

nstream
. D

eterm
ine the speed of the river's

current.

Enter an equation w
ith the follow

ing properties:
1. It uses the variable c to represent the speed of the river's current in m

iles per hour.
2. It uses the inform

ation as it is given above.
3. It can be solved to answ

er the question.
Equation: 

  

H
ow

 fast is the river's current? 
 m

iles per hour

16

7
−
c

=
40

7
+
c

3#11 Points possible: 10. Total attem
pts: 1

A
 boat, w

hich m
oves at 31 m

iles per hour in w
ater w

ithout a current, goes 945 m
iles upstream

 and
945 m

iles back again in 62 hours. Find the speed of the current to the nearest tenth.

The speed of the current is 
 m

iles per hour.
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#12 Points possible: 10. Total attem
pts: 1

Elizabeth drives to the beach, w
hich is 32 m

iles aw
ay. O

ne the w
ay back, due to road construction

she had to drive 6 m
ph slow

er, thus the return trip took 2 hours longer. W
hich of the follow

ing
equations w

ould be used to find the rate at w
hich Elizabeth drove to the beach? Pick tw

o.

vt
=

(2 )(32 )

vt
=

32

(v
+

6 )(t −
2 )

=
32

(v
−

6 )(t+
2 )

=
32

(v
+

6 )(t+
2 )

=
32

(v
−

6 )(t −
2 )

=
32

vt
=

32
(v

−
6 )(t+

2 )
=

32

#13 Points possible: 10. Total attem
pts: 1

D
erek w

ent on a bike ride. A
fter 6 m

iles he got a flat tire and had to jog back hom
e. H

e jogs 3
m

ph slow
er than he bikes, so the jog took 1 hour longer than the bike ride. A

t w
hat rate did he

travel each w
ay?

O
n the bike, D

erek w
ent 

 m
ph

Jogging back he w
ent 

 m
ph

63#14 Points possible: 10. Total attem
pts: 1

B
y checking w

ork records, a carpenter finds that Juanita can build a sm
all shed in 15 hours. A

nton
can do the sam

e job in 21 hours. H
ow

 long w
ould it take to build 7 sheds if they w

orked together?

It w
ill take them

 
 hour(s) 

 m
inute(s) to build 7 sheds together.

If needed, round answ
er to 1 decim

al places.
6115

W
A

M
A

P A
ssessm

ent
https://w

w
w

.w
am

ap.org/assessm
ent/printtest.php

6 of 7
4/18/14, 1:44 PM



#15 Points possible: 10. Total attem
pts: 1

C
hristy can do a job in 9 hours less than Tony can. If they w

ork together they can get the job done
in 6 hours. H

ow
 long w

ould it take each to do the job alone?

C
hristy can do the job in 

 hours

Tony can do the job in 
 hours

918
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